  Name________________________________________

2017 FOR A NEW CAR:

1.  _________________________    x  .029  x  3 (years)
      price of the car	      x  .029  x 4 or 5 (years)	  =  _________________________
			      x  .029  x 6 (years)	         interest on the loan


2. _________________________     +   _________________________   =  _________________________
     price of the car		   interest on loan	          total amount to be
								      repaid 


3. ___________________________________  / 36 (3 years)
    total amount to be repaid           48 (4 years)
				                       60 (5 years)
					         72 (6 years)	=  ___________________________
					                                                 monthly payment




[bookmark: _GoBack]2017 FOR A USED CAR:

1. _________________________     x  .0329  x  3 (years)
      price of the car	      x  .0329  x 4 or 5 (years)	  =  _________________________
			      x  .0329  x 6 (years)	         interest on the loan


2. _________________________     +   _________________________   =  _________________________
     price of the car		   interest on loan	          total amount to be
								      repaid 


3. ___________________________________  / 36 (3 years)
    total amount to be repaid           48 (4 years)
				                       60 (5 years)
					          72 (6 years)	=  ___________________________
								        monthly payment
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